

Summary of Bids Received

Project: 2011 HMA Shoulder Maintenance (Base Bid and Added Alternative A Combined)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement

CPMS Pin: B-00824A **Let Date:** 5/24/2011

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Chicagoland Paving,Inc.	225 Telser Road	Lake Zurich, IL 60047	Bid Bond	\$174,800.00	-12.52%	-\$25,022.00
Payne & Dolan, Inc.	28327 W. Route 173	Antioch, IL 60002	Bid Bond	\$183,223.50	-8.31%	-\$16,598.50
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$190,337.30	-4.75%	-\$9,484.70
Schroeder Asphalt Service, Inc.	P.O. Box 831	Huntley, IL 60142	Bid Bond	\$191,339.20	-4.25%	-\$8,482.80
J. A. Johnson Paving Company*	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$240,186.00	20.20%	\$40,364.00
Contract Award Limit				\$200,000.00		
Engineer's Estimate				\$199,822.00		
			*	Bid Exceeds the Co	ontract Award Li	mit
Design	IDOT(2)	Contract Bidder		MGB then Plan Racl	·	
Finance ————	Bid Tab File	Resident Eng.	<i>,</i>	Administrative Assis	stant	
Construction	Project File	Request By Mail		Mgr Capital Prograr	nming	
					_	



Return Bid Tabulation

Project: 2011 HMA Shoulder Maintenance (Base Bid and Added Alternative A Combined)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement

CPMS Pin: B-00824A Let Date: 5/24/2011

Item N	o. Pay Code	Description	Quantity	Unit	Eng Estimate		Chicagoland Paving,Inc.		J. A. Johnson Paving Company		Schroeder Asphalt Service, Inc.		Payne & Dolan, Inc.		Peter Baker & Son Company	
	·	•	-		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	1,032.00	CU YD	\$49.00	\$50,568.00	\$30.00	\$30,960.00	\$40.00	\$41,280.00	\$64.45	\$66,512.40	\$54.20	\$55,934.40	\$54.00	\$55,728.00
2	35100300	AGGREGATE BASE COURSE, TYPE A 4"	3,716.00	SQ YD	\$12.00	\$44,592.00	\$10.00	\$37,160.00	\$30.00	\$111,480.00	\$6.95	\$25,826.20	\$8.60	\$31,957.60	\$10.80	\$40,132.80
3	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	520.00	TON	\$90.00	\$46,800.00	\$90.00	\$46,800.00	\$72.00	\$37,440.00	\$87.75	\$45,630.00	\$81.10	\$42,172.00	\$77.00	\$40,040.00
4	10602210	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	321.00	TON	\$95.00	\$30,495.00	\$100.00	\$32,100.00	\$78.00	\$25,038.00	\$105.00	\$33,705.00	\$106.00	\$34,026.00	\$89.00	\$28,569.00
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$6,000.00	\$6,000.00	\$18,490.00	\$18,490.00	\$13,800.00	\$13,800.00	\$9,075.00	\$9,075.00	\$8,450.00	\$8,450.00	\$9,610.00	\$9,610.00
6	LC200470	SEEDING (COMPLETE)	1,858.00	SQ YD	\$11.50	\$21,367.00	\$5.00	\$9,290.00	\$6.00	\$11,148.00	\$5.70	\$10,590.60	\$5.75	\$10,683.50	\$8.75	\$16,257.50
	Bid Total					\$199,822.00		\$174,800.00		\$240,186.00		\$191,339.20		\$183,223.50		\$190,337.30



Project: 2011 HMA Shoulder Maintenance (Base Bid and Added Alternative A Combined)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement

CPMS Pin: B-00824A Let Date: 5/24/2011

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	1,032.00	CU YD	\$49.00	\$50,568.00	\$30.00	\$64.45	\$48.53
2	35100300	AGGREGATE BASE COURSE, TYPE A 4"	3,716.00	SQ YD	\$12.00	\$44,592.00	\$6.95	\$30.00	\$13.27
3	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	520.00	TON	\$90.00	\$46,800.00	\$72.00	\$90.00	\$81.57
4	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	321.00	TON	\$95.00	\$30,495.00	\$78.00	\$106.00	\$95.60
5	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$6,000.00	\$6,000.00	\$8,450.00	\$18,490.00	\$11,885.00
6	LC200470	SEEDING (COMPLETE)	1,858.00	SQ YD	\$11.50	\$21,367.00	\$5.00	\$8.75	\$6.24
		Bid Total		\$199,822.00					



Return Bid Tabulation

Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)
Section: 11-00000-15-GM
Hot-Mix Asphalt Shoulder Removal and Replacement
CPMS Pin: B-00824
Let Date: 5/24/2011

Item No.	Pay Code	Description	Quantity	Unit	Eng Es	timate	Chicagoland	Chicagoland Paving,Inc. J. A. Johnson Paving Company Schroeder Asphalt Service, Inc. Payne & Dolan, Inc. Peter		J. A. Johnson Paving Company		nnson Paving Company		Payne & Dolan, Inc.		Inc. Peter Baker & Son Com	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
							BAS	E BID									
1	20200100 EARTH	EXCAVATION	849.00	CU YD	\$49.00	\$41,601.00	\$30.00	\$25,470.00	\$40.00	\$33,960.00	\$64.45	\$54,718.05	\$54.20	\$46,015.80	\$54.00	\$45,846.00	
2	35100300 AGGRE	GATE BASE COURSE, TYPE A 4"	3,056.00	SQ YD	\$12.00	\$36,672.00	\$10.00	\$30,560.00	\$30.00	\$91,680.00	\$6.95	\$21,239.20	\$8.60	\$26,281.60	\$10.80	\$33,004.80	
3	40603080 HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50		428.00	TON	\$90.00	\$38,520.00	\$90.00	\$38,520.00	\$72.00	\$30,816.00	\$87.75	\$37,557.00	\$81.10	\$34,710.80	\$77.00	\$32,956.00	
4	40603310 HOT-MIX MIX "C",	(ASPHALT SURFACE COURSE, N50	264.00	TON	\$95.00	\$25,080.00	\$100.00	\$26,400.00	\$78.00	\$20,592.00	\$105.00	\$27,720.00	\$106.00	\$27,984.00	\$89.00	\$23,496.00	
5	70101700 TRAFFIC	CONTROL AND PROTECTION L)	1.00	L SUM	\$5,000.00	\$5,000.00	\$11,310.00	\$11,310.00	\$11,300.00	\$11,300.00	\$6,925.00	\$6,925.00	\$6,650.00	\$6,650.00	\$6,240.00	\$6,240.00	
6	LC200470 SEEDIN	G (COMPLETE)	1,528.00	SQ YD	\$11.50	\$17,572.00	\$5.00	\$7,640.00	\$6.00	\$9,168.00	\$5.70	\$8,709.60	\$5.75	\$8,786.00	\$8.75	\$13,370.00	
					Base Bid Total	\$164,445.00		\$139,900.00		\$197,516.00		\$156,868.85		\$150,428.20		\$154,912.80	
						Į.	ADDED ALT	ERNATIVE	Α								
7	20200100 EARTH	EXCAVATION	183.00	CU YD	\$49.00	\$8,967.00	\$30.00	\$5,490.00	\$40.00	\$7,320.00	\$64.45	\$11,794.35	\$54.20	\$9,918.60	\$54.00	\$9,882.00	
8	35100300 AGGRE	GATE BASE COURSE, TYPE A 4"	660.00	SQ YD	\$12.00	\$7,920.00	\$10.00	\$6,600.00	\$30.00	\$19,800.00	\$6.95	\$4,587.00	\$8.60	\$5,676.00	\$10.80	\$7,128.00	
9	40603080 HOT-MIX 19.0, N5	(ASPHALT BINDER COURSE, IL-	92.00	TON	\$90.00	\$8,280.00	\$90.00	\$8,280.00	\$72.00	\$6,624.00	\$87.75	\$8,073.00	\$81.10	\$7,461.20	\$77.00	\$7,084.00	
10	40603310 HOT-MIX "C",	(ASPHALT SURFACE COURSE, N50	57.00	TON	\$95.00	\$5,415.00	\$100.00	\$5,700.00	\$78.00	\$4,446.00	\$105.00	\$5,985.00	\$106.00	\$6,042.00	\$89.00	\$5,073.00	
11	70101700 TRAFFIC	CONTROL AND PROTECTION L)	1.00	L SUM	\$1,000.00	\$1,000.00	\$7,180.00	\$7,180.00	\$2,500.00	\$2,500.00	\$2,150.00	\$2,150.00	\$1,800.00	\$1,800.00	\$3,370.00	\$3,370.00	
12	12 LC200470 SEEDING (COMPLETE)		330.00	SQ YD Added A	\$11.50 Alternative A Total	\$3,795.00 \$35,377.00	\$5.00	\$1,650.00 \$34,900.00	\$6.00	\$1,980.00 \$42,670.00	\$5.70	\$1,881.00 \$34,470.35	\$5.75	\$1,897.50 \$32,795.30		\$2,887.50 \$35,424.50	



Return Bid Tabulation

Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)
Section: 11-00000-15-GM
Hot-Mix Asphalt Shoulder Removal and Replacement
CPMS Pin: B-00824
Let Date: 5/24/2011

Item No.	Pay Code	Description	Quantity	Unit	Eng Es	timate	Chicagoland	Paving,Inc.	J. A. Johnson Paving Company		_	roeder Asphalt Service, Inc. Payne & Dolan, Inc		Dolan, Inc.	•	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
						,	ADDED ALT	ERNATIVE	В							
13	20200100 EARTH EXCAV	ATION	190.00	CU YD	\$49.00	\$9,310.00	\$30.00	\$5,700.00	\$40.00	\$7,600.00	\$64.45	\$12,245.50	\$54.20	\$10,298.00	\$54.00	\$10,260.00
14	35100300 AGGREGATE E	BASE COURSE, TYPE A 4"	684.00	SQ YD	\$12.00	\$8,208.00	\$10.00	\$6,840.00	\$30.00	\$20,520.00	\$6.95	\$4,753.80	\$8.60	\$5,882.40	\$10.80	\$7,387.20
15	40603080 HOT-MIX ASPH 19.0, N50	IALT BINDER COURSE, IL-	96.00	TON	\$90.00	\$8,640.00	\$90.00	\$8,640.00	\$72.00	\$6,912.00	\$87.75	\$8,424.00	\$81.10	\$7,785.60	\$77.00	\$7,392.00
16	40603310 HOT-MIX ASPH MIX "C", N50	IALT SURFACE COURSE,	59.00	TON	\$95.00	\$5,605.00	\$100.00	\$5,900.00	\$78.00	\$4,602.00	\$105.00	\$6,195.00	\$106.00	\$6,254.00	\$89.00	\$5,251.00
17	70101700 TRAFFIC CONT (SPECIAL)	TROL AND PROTECTION	1.00	L SUM	\$1,000.00	\$1,000.00	\$6,110.00	\$6,110.00	\$3,950.00	\$3,950.00	\$2,450.00	\$2,450.00	\$2,200.00	\$2,200.00	\$3,775.00	\$3,775.00
18	LC200470 SEEDING (COM	MPLETE)	342.00		\$11.50 Alternative B Total	\$3,933.00 \$36,696.00	\$5.00	\$1,710.00 \$34,900.00	\$6.00	\$2,052.00 \$45,636.00	\$5.70	\$1,949.40 \$36,017.70	\$5.75	\$1,966.50 \$34,386.50		\$2,992.50 \$37,057.70
						,	ADDED ALT	ERNATIVE	С							
19	20200100 EARTH EXCAV	ATION	158.00	CU YD	\$49.00	\$7,742.00	\$30.00	\$4,740.00	\$40.00	\$6,320.00	\$64.45	\$10,183.10	\$54.20	\$8,563.60	\$54.00	\$8,532.00
20	35100300 AGGREGATE E	BASE COURSE, TYPE A 4"	567.00	SQ YD	\$12.00	\$6,804.00	\$10.00	\$5,670.00	\$30.00	\$17,010.00	\$6.95	\$3,940.65	\$8.60	\$4,876.20	\$10.80	\$6,123.60
21	40603080 HOT-MIX ASPH 19.0, N50	HALT BINDER COURSE, IL-	79.00	TON	\$90.00	\$7,110.00	\$90.00	\$7,110.00	\$72.00	\$5,688.00	\$87.75	\$6,932.25	\$81.10	\$6,406.90	\$77.00	\$6,083.00
22	40603310 HOT-MIX ASPH MIX "C", N50	HALT SURFACE COURSE,	49.00	TON	\$95.00	\$4,655.00	\$100.00	\$4,900.00	\$78.00	\$3,822.00	\$105.00	\$5,145.00	\$106.00	\$5,194.00	\$89.00	\$4,361.00
23	70101700 TRAFFIC CONT (SPECIAL)	TROL AND PROTECTION	1.00	L SUM	\$1,000.00	\$1,000.00	\$6,060.00	\$6,060.00	\$4,200.00	\$4,200.00	\$2,750.00	\$2,750.00	\$2,500.00	\$2,500.00	\$4,060.00	\$4,060.00
24	LC200470 SEEDING (COM	MPLETE)	284.00		\$11.50 Alternative C Total	\$3,266.00 \$30,577.00	\$5.00	\$1,420.00 \$29,900.00	\$6.00	\$1,704.00 \$38,744.00	\$5.70	\$1,618.80 \$30,569.80	\$5.75	\$1,633.00 \$29,173.70		\$2,485.00 \$31,644.60
	Project Bid Total		\$267,095.00		\$239,600.00		\$324,566.00		\$257,926.70		\$246,783.70		\$259,039.60			



Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement **CPMS Pin:** B-00824

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid	
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	Price	
			BAS	SE BID						
1	20200100	EARTH EXCAVATION	849.00	CU YD	\$49.00	\$41,601.00	\$30.00	\$64.45	\$48.53	
2	35100300	AGGREGATE BASE COURSE, TYPE A 4"	3,056.00	SQ YD	\$12.00	\$36,672.00	\$6.95	\$30.00	\$13.27	
3	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	428.00	TON	\$90.00	\$38,520.00	\$72.00	\$90.00	\$81.57	
4	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	264.00	TON	\$95.00	\$25,080.00	\$78.00	\$106.00	\$95.60	
5	70101700	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$5,000.00	\$5,000.00	\$1,800.00	\$11,310.00	\$4,874.00	
6	LC200470	SEEDING (COMPLETE)	1,528.00	SQ YD	\$11.50	\$17,572.00	\$5.00	\$8.75	\$6.24	
			Base	Bid Total		\$164,445.00				



Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement

CPMS Pin: B-00824

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid		
No.	ray code	Description	Quality	Oilit	Unit Price	Extnd. Price	Price	Price	Price		
	ADDED ALTERNATIVE A										
7	20200100	EARTH EXCAVATION	183.00	CU YD	\$49.00	\$8,967.00	\$30.00	\$64.45	\$48.53		
8	35100300	AGGREGATE BASE COURSE, TYPE A 4"	660.00	SQ YD	\$12.00	\$7,920.00	\$6.95	\$30.00	\$13.27		
9	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	92.00	TON	\$90.00	\$8,280.00	\$72.00	\$90.00	\$81.57		
10	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	57.00	TON	\$95.00	\$5,415.00	\$78.00	\$106.00	\$95.60		
11	70101700	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$1,000.00	\$1,000.00	\$1,800.00	\$11,310.00	\$4,874.00		
12	LC200470	SEEDING (COMPLETE)	330.00	SQ YD	\$11.50	\$3,795.00	\$5.00	\$8.75	\$6.24		
		Adde	\$35,377.00								



Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement **CPMS Pin:** B-00824

Item	Pay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid		
No.	Fay Code	Description	Qualitity	Offic	Unit Price	Extnd. Price	Price	Price	Price		
	ADDED ALTERNATIVE B										
13	20200100	EARTH EXCAVATION	190.00	CU YD	\$49.00	\$9,310.00	\$30.00	\$64.45	\$48.53		
14	35100300	AGGREGATE BASE COURSE, TYPE A 4"	684.00	SQ YD	\$12.00	\$8,208.00	\$6.95	\$30.00	\$13.27		
15	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	96.00	TON	\$90.00	\$8,640.00	\$72.00	\$90.00	\$81.57		
16	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	59.00	TON	\$95.00	\$5,605.00	\$78.00	\$106.00	\$95.60		
17	70101700	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$1,000.00	\$1,000.00	\$1,800.00	\$11,310.00	\$4,874.00		
18	LC200470	SEEDING (COMPLETE)	342.00	SQ YD	\$11.50	\$3,933.00	\$5.00	\$8.75	\$6.24		
		Adde									



Project: 2011 HMA Shoulder Maintenance (Base Bid & Individual Added Alternative Bids)

Section: 11-00000-15-GM

Description: Hot-Mix Asphalt Shoulder Removal and Replacement **CPMS Pin:** B-00824

Item	Pay Code	Description	O amtitu	, Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
		ADD	ATIVE C						
19	20200100	EARTH EXCAVATION	158.00	CU YD	\$49.00	\$7,742.00	\$30.00	\$64.45	\$48.53
20	35100300	AGGREGATE BASE COURSE, TYPE A 4"	567.00	SQ YD	\$12.00	\$6,804.00	\$6.95	\$30.00	\$13.27
21	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	79.00	TON	\$90.00	\$7,110.00	\$72.00	\$90.00	\$81.57
22	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	49.00	TON	\$95.00	\$4,655.00	\$78.00	\$106.00	\$95.60
23	70101700	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	L SUM	\$1,000.00	\$1,000.00	\$1,800.00	\$11,310.00	\$4,874.00
24	LC200470	SEEDING (COMPLETE) Adde	284.00 d Alternativ		\$11.50	\$3,266.00 \$30,577.00	\$5.00	\$8.75	\$6.24
			Project B	Bid Total		\$267,095.00			